a Read the text and complete the gaps with these verbs in
the correct form.

do drink drive earn eat have (x2)
know tive spend think travel work

Is this the typical
British man?

tatistics tell us that the
Stypical British man is 40

yearsold,l lives ina
house and is married with two
children. He 2 more than
40 hours a week and 3 about
£25,000 a year. He * between
fifty minutes and an hour to and from work every day.
He > a Ford car and he © he is a good
driver.

The typical British man is overweight (he weighs
about 82.5 kg) and he 7 less than 30 minutes
exercise a week. He usually sleeps about seven hours
a night. He is not a great cook, but he 8 how to
make four dishes, including Spaghetti Bolognese. He
= three cups of tea a day and during his life he
10 approximately 35,000 biscuits.

The typical British man 1 eight close friends

and more than eighty contacts on his mobile
= _—phone. He 12 three TVs, a copy of

——

Queen’s Grealest Hits, and at least
one of the Harry Potter books. He
13 thirteen hours online every
week and forty-five hours a
year waiting ‘on hold” on
the phone.
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